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101|R#A7 L 357 67 290| Kg |@EB 1,944 216| 4,860 432
102|357 L 1,947 1,947| Kg BIE 1,566 800
111|&EEF £ 1,651 11| 1,640 Kg |EBREE 1,080 ERE 1,728 216
113|RAV S 13 7 6| Keg |EE 4,320 1,944 | 5,400 1,404
114|B5EFE 229 229| Kg e 2,862 720
15[ 1= 1 1 Kg FfE 3,240

117[1E 182 18 164| Kg |@8 1,944 1,728| £ 3,780 702
121|rblE &€ 20 11 9| Kg |@E& 1,728 110|£E 1,404

134[#= = 425 226 199 Kg |=# 2,800 1,200(185 3,240 1,620
137|&5E.3. < 86 50 36| Kg |k% 3,024 2,700| &% 3,780 1,188
140(5 I 42 42| Kg sl 70,200 1,080
147|EZ O 70 2 68| Kg |EE 14,044 2,380 48 - R 8,500 5,000
158|EIEA A LS 341 20 321 Keg |EE 1,620 378|% )1l 2,322 1,080
201{Lvb L 598 598| Kg =% -5l 900 300
203|/hd L 84 84| Kg =40 486 324
205|3.3 L 4 4| Kg =l 486

206| = 1F 746 746|  Kg AR 1,296 346
207|= A K 1,370 1,370 Kg imE 2,700 446
208| Mo % 1,040 1,040| Kg EX) 1,512 216
2094 B & L 40 40| Kg =5 540

210|1F ALy 484 388 96| Kg |LO 4,320 2,160(1L O 2,970 2,268
212|&FE3 Y 284 284  Kg &I - @A 2,214 1,100
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22202 279 279 Kg = 432 288
254|EDT2ELCAH 882 64 818 Kg 1,836 1,544(F 7% 3,186 1,026
303[A 27z 569 552 171 Kg 360 93| & 864 617
305|xAah>0b 3 3] Kg FJE 2,700

306|Le &Y 33 33 Kg . 1,080 540
319|h o 493 20 473 Kg |EE 1,836 02| K& 2,592 270
332|113 WA =EF 493 493 Kg Bl = 4,537 1,728
3bl{HHV 67 30 371 Kg [3E 3,780 3,564 2k, 21,600 3,618
35411FxE<Y 148 78 70| Kg |FE 1,728 1,296|F% 2,160 1,296
355(mp Y 117 5 112| Kg [dtiBE A0 1,836 600
356(L L& 66 66 Kg SER 1,512 540
357|7RE 32 32| Kg = 4,104 1,080
358|KE 3 3] Kg FAN 3,456

362|Hh & 15 15| Kg BJE 1,620

401|H W 30 30 Kg Iz & 1,944 1,404
4025 5 &E 10 10| Kg A0 5,616 5,508
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512| A& AL 80 80| Kg b 1,400 1,150
523| A EARAT 2 O 475 475|  Kg =] 6,600 1,279
54| ARE & 2V 32 32| Kg =] 1,740
5h4|E X BA AR 90 90| Kg b 950
558| 40 40| Kg b 1,296 972
560|487 2 607 607| Kg =] 3,857 1,600
566|455 HE A < 35 35| Kg b 4,000 3,700
5764 X 1F 250 250 Kg b 1,080
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70110 BA 1,606 838 768 Kg |EE 3,078 2,300| = 1,436 1,328
71019 2 ®HA0F 12 12 Kg Ko 1,404 1,163
BlBEFALANIN 7 71 Kg EE 1,080
755(Fd L 50 501 Kg E=AES 741 230
56| £ 9 5 5] Kg RIE 1,588
01 [IBAL = 1T 242 2421 Kg tmE - mA 2,052 1,274
802|1 x| 60 60| Kg gl 1,912 1,188
8051 1E 474 474 Kg JbiF 1,080 691
807 [18H D F 6 6 Kg bF 4,860
810|BAKTF 438 438 Kg B =2 3,456 1,404
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